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Time: 30 minutes
Calculators are NOT permitted.

Instructions:

1. DO NOT open the contest booklet until you are told to do so.

2. You may use pencil to write your answer and scrap papers for
rough work.

3. Circle the answer in this booklet.
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Part A

@  Count the number of eyes. [4.5%]

B—BEREBEEAE o

v . . 0
e’ e i —
i ——
e D -S>
(A) 2 (B) 3 (C) 6 (D) 9 (E) 12
® 6+18="7 [4.5%]
(A) 20 (B) 22 (C) 23 (D) 24 (E) 25
® 19-8=7 [4.5%]
(A) 9 (B) 10 O 11 (D) 12 (E) 17
@  Which of the following clocks is showing the time 4:007? [4.5%]

LT —EEm 8 maEsfEE 4 BRFIE ?




®  Count the number of triangles in the figure.

[4.5%]
B =ATrEE -
% ’
(A) 2 (B) 3 (C) 14 (D) 15 (E) 16
®  There are 6 green apples, 8 red apples, and 4 oranges in a basket. [4.5%]

How many apples are there in the basket?
ETER 6 EFHER ~ 8 EAIERN 4 @ - HEFERZD
EzaR 2

(A) 6 (B) 8 (C) 4 (D) 18 (E) 14




(D Find the missing number.

R » e EBET o

3,6,9,12,

(A) 13 (B) 14 (C) 15

Find the missing number.
IRIRARE > FHEE EREE o

70, 65, 60,

(A) 59 (B) 55 (C) 54

©  Count the number of legs.
UTEMHEEZ VEM?

, 18, 21

(D) 16

, 00,45

(D) 52

(E) 17

(E) 50

(A) 16 (B) 18 (C) 20

(D) 22

(E) 24

[4.5%]

[4.5%]

[4.5%]



Harry is 6 years old. His sister Emma is 7 years older than him. What

is the sum of their ages? [4.5%]
NS 6 Bx o ANXHVBIBEEMtMK 7 5% > (I ARFREHZ
Z0BR?

(A) 12 (B) 13 (C) 14 (D) 19 (E) 20

@  Find the missing letter.
AR LR & [45%]

A‘)B)B)B)_)B’D,B)E’B
W B (B A (©D  (DE (E) C

@  Count the number of triangles. [4.5%]

L =ATEHE -

(A) 11 (B) 12 (C) 13 (D) 14 (E) 15



@  Find the missing shape. [4.5%]

RFRE > BiEREZE -
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Today is Wednesday. What day is it 10 days later?
SKEEH= > 10 RESEH%?

[4.5%]

Sunday Monday | Tuesday |Wednesday | Thursday | Friday [ Saturday
288 | Ef— | B | Ef= | B0 | 285 | 2HN

(A) Sunday 2HiH (E) Thursday £ HAPY
(B) Monday 28— (F) Friday 288F
(C) Tuesday E2Ei— (G) Saturday ZHi7~

(D) Wednesday 2Hi=

@®  Angie bought some bananas from a supermarket. After she ate half of [4.5%]
them, there were 8 bananas left. How many bananas did she buy
from the supermarket?

IMBEIERMIZE T —ER/E - WlzT—FR > ER N8 &SR
Eo-HWETZVEERE?

(A) 1 (B) 4 (C) 8 (D) 12 (E) 16



PartB

Mary wrote the numbers from 1 to 100 on the chalkboard. How
many “0”s did she write on the board?

INEIE 1 R 100 RHFEEERLE - BthEEH T ZAME o)

[6.3%]

%2
(A) 2 (B) 9 (C) 10 (D) 11 (E) 12
@  Which number should be put in the question mark box? [6.4%]

RS EZIE LEEHF ?

76 13|11

(A) 90 (B) 91 (C) 95 (D) 99 (E) 100



Find the missing shape.

b RIFRYEZE o

X

(A)

(B)

©)

(F)

K X

[6.5%]



Six little turtles, A, B, C, D, E, F, are lining up to go to bathroom. F 6.6%]
is after A and before D and he is also between B and C; B is the first
in the line; and E is the last in the line. Which turtle is F?

ERENGE (BEAB~C D ~EMF) HEFXLEEIFT°F
HHEAZ®E > WHHE D Zr) > MAXHEB M C ZfE - EA B
HESE—TE E Bk o B F HFSERU ?

‘ ¥R YR YN N N N

(A) 1st 55 1 i (B) 2nd & 2 i (C) 3rd & 3 fiI
(D) 4th 55 4 fiL (E) 5th % 5 fiI (F) 6th %5 6 {iI

@)  Solve the following puzzle.
B T AR o

[6.7%]

(A) O (B) 1 (©) 2 (D) 3 (E) 4

(F) 5 (G) 6 (H) 7 (1) 8 ) 9
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